6.

Calculate the answer to the following additions. Write the answers as numbers.
a) Thirteen add fifty-eight = .
b) Seventy-five add thirty-four = ———

c) Forty-six add ninety-seven = ————

Add these numbers.

a) 128+ 308= — ——
b) 437+ oQR=__
c) 830+ 405=_— ——

Now work these out.

a) 45 b) 83 c) 72
+61 +39 +29

— —_—

Calculate the additions below.

a) 1583 b) 40147 c) 28024
+8769 + 6954 +79867

—— —_— —

I —_—

Add together 14258, 92001, 12119, 85357 and 48 080.

Bill goes to the cinema and spends £4.60 to watch a film. He also buys @ bag of popcorn

which costs £2.75. How much does Bill spend altogether?
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